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1.
Which of the following sets of elements will form a molecular compound?  Explain.


(a)
Ni and Cu.  No.  These are two metals.


(b)
Li and F.  No.  One metal and one non-metal.


(c)
Li and Mg.  No.  These are two metals.


(d)
C and Cl.  Yes.  These are two non-metals.


(e)
He and Mg.  No.  He does not form compounds—it is an inert gas.

2.
List a pair of elements that will form a molecular compound.


Any two non-metals—for example N and O.

3.
Which of the following substances is an ionic compound?  Explain.


(a)
Water.  No, water is H2O, it is a molecule (two non-metals).


(b)
Carbon dioxide.  No, CO2 is a molecule (two non-metals).


(c)
Sodium fluoride.  Yes., NaF is an ionic compound (metal and non-metal).


(d)
Dinitrogen pentoxide.  No, N2O5 is a molecule (two non-metals).


(e)
Helium.  No, helium is an element.

4.
List a pair of elements that will form an ionic compound.

Any metal and non-metal—for example Al and O (Al2O3).  Or, you can use polyatomic ions (Li2SO4 or NH4NO3).

5.
What is an alloy?


An alloy is a mixture of metals.

6.
A student obtains one mole of carbon atoms.  How many carbon atoms is this?


6.022 x 1023 carbon atoms

7.
A student obtains two moles of carbon atoms.  How many carbon atoms is this?


2 moles 
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8.
A student obtains ten moles of carbon atoms.  How many carbon atoms is this?


10 moles 
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 = 6.022 x 1024 carbon atoms

9.
What is a mole?


A mole is a count: 
6.022 x 1023

Just as a dozen is a count (tweleve).
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